DNA CARD REVIEW ALL Chapters ANSWERS
1. transduction
2. Reverse transcriptase
3. Transfer-RNA (tRNA)
4. Because DNA polymerase can’t start a new strand and can only add to a 3’ end, there are areas on the    
    ends of the DNA strand that can’t be filled in all the way when it is copied. Telomeres act as protective 
    tips on ends of chromosomes to prevent loss of code during replication
5. RNA PROCESSING (Editing introns; alternative gene splicing, 5’ GTP cap, poly-A tail)
    NUCLEAR TRANSPORT (speed of exit)
6. Restrictions endonucleases (restriction enzymes)
7. Lytic 
8. Proteins; post-translational
9. prophage
10. Polymerase chain reaction (PCR)
11. Semi-conservative
12.  Active
13. DNA polymerase III
14. Part of spliceosomes in nucleus; recognize intron edit sites
15. leading
16. mRNA’s
17. introns
18. 

	TRANSCRIPTION

	PROKARYOTES
	EUKARYOTES

	in cytoplasm
	in nucleus

	Simultaneous w/translation
	Separate from translation

	Message codes for multiple proteins (polycistronic)
	Each message codes for one protein (monocistronic)


     
19. Poly-A tail
20. Adds to 3’ end; chain grows 5’ → 3’ direction
21. Translation
22. nucleotide
23. deoxyribose
24. promoter
25. arginine- valine-stop
26. Mutation #1 = substitution; Mutation #2 = insertion (frameshift)
       Mutation #2 causes more disruption to the amino acid sequence because it causes a frameshift; 
        moving each nucleotide in the group of 3 over one place. It changes all the amino acids after the 
        insertion. 
27. Add lactose to turn lac operon ON
28. Plasmids; 
29. antibiotic resistance or fertility (ability to make sex pili)
30. Restriction endonucleases (restriction enzymes); ligase
31.  activates/OFF
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Linus Pauling used RFLP analysis
to show that the sickle cell
mutation caused a change in the
DNA code. He cut the gene from
a person with normal hemoglobin
and a person with sickle cell
anemia with a restriction enzyme
and compared them using RFLP
analysis.

wild type ~heterozygous homozygous
sickle cell  sickle cell

Make a prediction about what the
gel pattern from a person who is
heterozygous for the sickle cell
allele might look like.
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32 Tryptophan would replace cysteine in the protein; missense mutation

33.  Heterozygous patients have 2 chromosomes; one with normal allele 

        and one with a sickle allele so three bands show on the gel

34. Transformation, conjugation, transduction

35.  Conjugation
36. Okazaki fragments
37. Ribozymes
38. Chaparonins
39.  Phosphate
40.  A- holds incoming tRNA with amino acid; P- holds growing polypeptide chain; E- empty tRNA exits here
41.  RNAinterference (RNAi) - microRNA (miRNA)  block reading of mRNA’s
      small interfering RNA (siRNA)-tag message for degradation
      Cleavage of polypeptides to create functional proteins (ex; insulin)
      Chemical modification (add sugars, phosphates, etc)
      Transport tags – ID destination
      Ubiquitin-death tags
42. Activators;  positive control 
